normalized X?

[ normalized x? probability |

Entries E Entries 173795
—1] M M 0.5799
10 - snzagev 0.035fF- - Stzagev 0.2995
102k 0.03f--1---F
E 0.025 i - [Entios 173809
3 + | Mean 058
10°F 1 |std pev 0.2995
10k 0.015F -
i 0.01f-
10°F
.91”6-...i...i...i...i...i...i...i...i...i... .guo: ]
T o . S bulnleniRnR
@ Lt o RAtR e atat Attt Rt AT
B S R L
I . L et
0.95 i i i 4 i i i i i 0.! i i
0 2 4 6 8 10 12 14 16 18 20

< x2/ndf >

Ratio
-

XZ

%0 010203040506070809 1

Prob(x?)

mmmmm DQM_ttharPU_mkFit_5iter

e DQM_ttbarPU_mkFit_5iter_updatedPR111_update
wmm== DQM_ttharPU_mkFit_5iter_updatedPR111_update_fixPropagation

1.8

1.6}

1.4

1.2

i

0.8]

T T
+*

0.95°

< X2/ ndf >

i

Ratio

1072 107
AR(track, ]et?



	Contents
	Page 1


